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la commande de bareme : et un exemple de question grossie :

\newcommand{\bardeux}{\wrongchoice[F]{0}\scoring{0}\wrongchoice[F]{0.5}\
scoring{@.5}\wrongchoice[F]{1}\scoring{1}\wrongchoice[F]{1.5}\scoring{1.5}\
correctchoice[J]{2}\scoring{2}}
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péfinition “\AMCOpen{lines=3, dots=true, framerulecol=white, lineheight=0.28cm,answer = “color{red}

{}} {“\bardeux} “\end{question} }

“element{P1ch2}{ “begin{question}{P1ch2q6}Unités de la pression,
Conversions (5 unités) “AMCOpen{lines=3, dots=true, framerulecol=white, lineheight=0.28cm, answer
\color{red}{}} {\bardeux} \end{question} }



